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4 | 44654 1003 |=VLOOKUP(C4,$1$4:$K$9,2,FALSE) =VLOOKUP(C4,$1$4:$K$9,3,FALSE) 2 —E4*F4
5 | |44661 1001 |=VLOOKUP(C5,$1$4:$K$9,2,FALSE) =VLOOKUP(C5,$1$4:$K$9,3,FALSE) 1 —E5*F5
6 | |44662 1000  |=VLOOKUP(C6,$1$4:$K$9,2,FALSE) =VLOOKUP(C6,$1$4:$K$9,3,FALSE) 2 —E6*F6
7 | |44664 1001 |=VLOOKUP(C7,$1$4:$K$9,2,FALSE) =VLOOKUP(C7,$1$4:$K$9,3,FALSE) 4 =E7*F7
8 | 44666 1002  |=VLOOKUP(C8,$1$4:$K$9,2,FALSE) =VLOOKUP(C8,$1$4:$K$9,3,FALSE) 1 —E8*F8
9 | |44667 1003 |=VLOOKUP(C9,$1$4:$K$9,2,FALSE) =VLOOKUP(C9,$1$4:$K$9,3,FALSE) 5 —E9*F9
10| [44671 1004  |=VLOOKUP(C10,$I1$4:$K$9,2,FALSE) =VLOOKUP(C10,$I$4:$K$9,3,FALSE) 1 =E10*F10
11| 44681 1000 |=VLOOKUP(C11,$1$4:$K$9,2,FALSE) =VLOOKUP(C11,$1$4:$K$9,3,FALSE) 2 —E11*F11
12| 44683 1001  |=VLOOKUP(C12,$1$4:$K$9,2,FALSE) =VLOOKUP(C12,$1$4:$K$9,3,FALSE) 1 =E12*F12
13| |44686 1001  |=VLOOKUP(C13,$1$4:$K$9,2,FALSE) =VLOOKUP(C13,$1$4:$K$9,3,FALSE) 5 —E13*F13
14 | 44691 1005 |=VLOOKUP(C14,$1$4:$K$9,2,FALSE) =VLOOKUP(C14,$1$4:$K$9,3,FALSE) 1 =E14*F14
15| 44692 1000 |=VLOOKUP(C15,$1$4:$K$9,2,FALSE) =VLOOKUP(C15,$1$4:$K$9,3,FALSE) 2 —E15*F15
16| 44693 1002 |=VLOOKUP(C16,$1$4:$K$9,2,FALSE) =VLOOKUP(C16,$1$4:$K$9,3,FALSE) 5 =E16*F16
17| 44694 1004  |=VLOOKUP(C17,$1$4:$K$9,2,FALSE) =VLOOKUP(C17,$1$4:$K$9,3,FALSE) 6 =E17*F17
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4 1000 F323 2300 |=COUNTIF($D$4:$D$17,J4)  |=SUMIF($D$4:$D$17,)4,$F$4:$F$17) =SUMIF($D$4:$D$17,J4,$G$4:$G$17)
5 1001 o 2—2 |1800 |=COUNTIF($D$4:$D$17,J5)  |=SUMIF($D$4:$D$17,J5,$F$4:$F$17) —SUMIF($D$4:$D$17,J5,$G$4:$G$17)
6 1002 t—J  [3200 |=COUNTIF($D$4:$D$17,J6)  |=SUMIF($D$4:$D$17,16,$F$4:$F$17) =SUMIF($D$4:$D$17,J6,$G$4:$G$17)
7 1003 BiF 2900 |=COUNTIF($D$4:$D$17,J7)  |=SUMIF($D$4:$D$17,)7,$F$4:$F$17) —SUMIF($D$4:$D$17,)7,$G$4:$G$17)
8 1004 4y %— (2100 |=COUNTIF($D$4:$D$17,J8)  |=SUMIF($D$4:$D$17,J8,$F$4:$F$17) =SUMIF($D$4:$D$17,J8,$G$4:$G$17)
9 1005 ' 1900 |=COUNTIF($D$4:$D$17,J9)  [=SUMIF($D$4:$D$17,J9,$F$4:$F$17) =SUMIF($D$4:$D$17,J9,$G$4:$G$17)
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